A z c D E B G " - [ J K M N
X, ¥ x,-x) |, -») (x, -2 Ky, - ¥ . ; . 2+ | co 2
Newn | il (-0 G-y [BTP s | B2 | e-pr| 0w

2 1 45.1 68.8 2.8 10,91 -106,96 06,04 119,12 3102,88 203401 61,28 0,11 11,48 56,61
3 2 59 612 4.1 3,31 13,59 16,81 10,98 3610,80 3481,00 56,47 0,08 2,01 22,40
4 3 D2 59.9 23 2,01 4,63 5,29 4,06 3426,28 3271,84 57,09 0,05 0,63 7.90
5 4 61.8 56.7 6.2 -1,19 -8,18 47.61 1,41 350406 381924 55,50 0,02 5,70 1,44
] 5 58.8 55 ERY 2,89 -11,25 15,21 8,33 323400 3457 44 56,54 0,03 1,82 2,36
7 6 47.2 543 7.7 -3,59 27,61 59,20 12,86 2562.96 2227.84 35 0,12 7,00 39,05
8 7 5.2 483 0.3 -8,59 -2,58 0,00 73,71 2721,36 3047,04 57,78 0,17 0,01 71,94
S Cyuuma 3843 4052 -83.14 24034 | 23047 | 2216234 21338 41 405,20 0.57 28.76 201,71
10 Cpenwee  54.9 57.9 57.89 8.14%

11

12 -83,14 i R e

. =37 -

i o 0383041 JEYTY XX mmmma, L,
- ro . 038 oo " | =21 g (7% 130N |
16 t:-w‘= = i n m 7 1 ‘0'844 -t R

17 S Ji-(-0353)

19 Tabmuuroe sHauenne t-xpurepua Creronenra > (y‘- jr 3011
E tep = 2,57 M= L = 0.41

21 3 {1 ) L e ) (’ i ') N ; ﬂ(" 2)-240.34

2 R'=‘r“f =(0353° = 0.125 \ T2 Z 1y

23 < d <

24 z ’ y bt 76.877

x-’ 4 -—Z xz}’ = = 2 : it =

gg e J nTTET 2216234-40523843:7 I Mol 22.62 3.40

7 = if= 21338,41-(384,3°:7

% XXX b.| [0.344

25 - L B fo= - - 0.844

20 g m.‘: 0.41

31 b=y -hx =5 0,346-54.9= 76,877

32 3\

= e oY (B muten o botmate) (76877-22,622,57 ; 76,877+22,62:2,57)
24 2V n-m-1 287 7-1-1 I ’

35 Fosil ar - = 35513 = 0.713 18.73 135,02

38 Sip-y] m .

37 -l skl I

Nz s nNZT

38 Tabmruroe sHaueHne KpuTepna Pumepa 8.61 Lb;‘m_x;t s b;"’m_kyt‘,,;] [0346-0,41.257 ; -0346+0,41.25
4 4 » M| 3anaya 3.2 ~¥J




